PE CUONG ON TAP HOC KY Il KHOI 8

MON GDCD
1. Bai: Quyén tw do ngdn luén.
- Thé nao 1a quyén tu do ngdn luan?
- Vi sao phai ning cao trinh ¢ vin hoa mai sir dung cé hiéu qua quyén tu do
ngbn luan?
2. Bai: Quyén khiéu nai té céo.
- Thé nao 1a quyén khiéu nai, t6 cao?
- So sanh su giéng nhau va khac nhau caa quyén khiéu nai va quyén t cao?
- Trach nhiém cta nha nudc va cong dan doi véi quyén khiéu nai va té cao duoc
thuc hién nhu thé nao?
3. Bai: Hién phap nwéc Cong hoa xa hdi chii nghia Viét Nam
- Hién phéap 1a gi? T khi thanh Iap nuéc (ndm 1945) dén nay nudc ta c6 bao
nhiéu ban Hién phap? Mdi ban Hién phap gin lién véi cac su kién nao cua dan
toc ta?
- Néu néi dung co ban cua Hién phap nim 2013.
- Co quan nao c6 quyén ban hanh Hién phap? Trinh tu ban hanh, sira doi Hién
phap duoc quy dinh nhu thé nao?
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MON LICH SU
Bai Cuoc khang chién tir 1858 dén 1873-Thyc dan Phap danh chiém Bic Ki.
- Céc cuoc khang chién tiéu biéu.
Bai 26:Trao luu cai cach duy tan & Viét Nam nira cudi thé ki XIX.
- Tén céc cudc cai cach, két qua, nguyén nhan that bai.

Bai 27:Nhitng chuyén bién kinh té xa hoi & Viét Nam va phong trao yéu nudc
chéng Phap tir dau thé ki XX dén nam 1918,

- Chinh séach khai thac thudc dia Ian tha nhat cta thuc dan Phap.
- Nhiing chuyén bién vé kinh té-xa hoi.

k,kkhkkhkhkhhkkhkkhhkkikhhkkhhkhihkihkihkkhikiiikkx



MON PIA LY

1. Pac diém khi hau Viét Nam va cac mua khi hau, thoi tiét nudc ta.
2. Pac diém song ngoi Viét Nam
3. Pac diém sinh vat Viét Nam.

*hkkhkkkkhkkhkhkhkhkhkhhkhkhhkhihhhhiiiiiiiik
MON NGU VAN

I.LY THUYET

A. Van ban:
Bao gom tac pham: “Ngam tring”, “Chiéu doi d6”, “Hich tudng si”, “Nudc Dai

Viét ta”, “Ban luan vé phép hoc”

1. Néu duoc tac gia, hoan canh sang tac, thé loai, phuong thuc biéu dat, gia tri noi
dung va nghé thuat co ban cua cac tac pham trén.

2. Hoc thudc cac bai tho.

3. Néu duge dic diém co ban cua cac thé Chiéu, Hich, Céo, TAu.

4. Néu dugc van dé nghi luan va hé thong luan diém caa cac van ban nghi luan.
B. Tiéng Viét:

On tap bai: Cau phu dinh, cau nghi van, hanh déng noi, lua chon trat tu tir trong
cau, chira 15i dién dat.

C. Tap lam van:

On lai ly thuyét vé luan diém va kiéu bai nghi luan cd yéu t& biéu cam, tu su va
miéu ta.

1l. BAI TAP

Bai 1. Cho cau tho: Trong tu khong ruwou ciing khong hoa

( Ngtr van 8, tap 2, NXB Giéo duc — 2015, tr.37)

Cau 1. Cau tho trén trich trong tac pham ndo? Cua ai? Néu xuat xi caa tac pham do.

Cau 2. Chép chinh xac 3 cau tho tiép dé hoan thanh tac pham.
Cau 3.



a. Chi rd va phan tich tac dung cua céc bién phap nghé thuat xuét hién ¢ 2 cau tho

dau.

b. Chi rd va phan tich tac dung cua céc bién phap nghé thuét xuét hién & 2 cau tho

Cubi.

Cau 4. Chi rd chat c6 dién va hién dai trong cau tho trén?

Cau 5. Viét doan van khoang 12 cau theo phuong thic Tong hop —

Phan tich — Tong hop néu cam nhan cua e vé vé dep tam hon cua

nguoi chién si cong san trong tac pham (dugc xac dinh & cau 1).

Poan van st dung 1 ciu phu dinh. (gach chén va chu thich).

Cau 6. Qua tac pham va nhiing hiéu biét vé xa hoi, trinh bay suy nghi ciia em

(khoang nira trang giay) vé vai trd caa y chi nghi lyc song ddi véi cudc song con

nguoi.

Bai 2: Doc doan van sau va tra loi cau hoi:

“Huoéng gi thanh Pai La, kinh do cii cia Cao Viwong: O vao noi trung tam troi

dat; dwoc céi thé réng cudn hé ngoi. Pd ding ngéi nam bdc déng tdy; lai tién

hwéng nhin séng dira nii. Pia thé réng ma bang; dat dai cao ma thodng. Dan cuw

khoi chiu canh khon khé ngdp lut; mubn vdt ciing rat muc phong phi tér fuoi.

Xem khdp ddt Viét ta, chi noi nay la thang dia. That 1a chén tu héi trong yéu cua

bon phwong dat nuée; ciing la noi kinh dé bdc nhat cia dé viecong muén doi.”
(Ngiz van 8 —tdp 2)

Cau 1. Poan van trén trich trong van ban nao? TAc gia caa vin ban ay 12 ai?

Cau 2. Noi dung cha yéu cia doan vin trén 1a gi?

Cau 3. Cau “Thdt 1a chon tu héi trong yéu cia bon phwong dat nwée; ciing la noi

kinh @6 bdc nhat cia Dé Vieong muén doi” thudc kiéu cau gi? Thuc hién hanh

doéng noi nao?

Cau 4. Viét doan van (khoang 12 cu) theo cach dién dich 1am sang t6 luan diém:

“Pgi La 1a thang dia ximg la kinh dé ciia dé vwong mudn doi”. Poan vin cé s

dung mot cau nghi van khong ding dé hoi (gach chan va chi rd).

Bai 3:Doc doan van sau va tra loi cau héi:
“Hubng chi ta cung cac nguoi sinh phai thoi loan lac, 16n gap budi gian nan. Ngo
thay st gisic nghénh ngang ngoai dudng, udn ludi cd diéu ma si mang triéu dinh,



dem than dé chd ma bt nat té phuy, thac ménh HG6t Tat Liét ma doi ngoc lua, dé
thoa 1ong tham khéng cuing, gia hiéu Van Nam Vuong ma thu bac vang, dé vo vét
cua kho c6 han. That khac nao nhu dem thit ma nudi hd doi, sao cho khéi tai va
vé sau!”
Cau 1: Poan van trén trich trong vin ban ndo? T4c gia cta van ban ay 12 ai?
Cau 2: Chi ra phuong thuc biéu dat chinh caa doan van trén.
Cau 3: Hai cau: Ngo thay st gidc... vo vét caa kho c6 han. That khic ndo nhu
dem thit ma nuéi hd déi,sao cho khai tai va vé sau!” thudc kiéu cau gi? Thuc hién
hanh dong noi nao?
Cau 4: Qua vin ban (dugc xac dinh & cau 1) va bang nhitng hiéu biét cua x4 hoi,
hay viét khoang 2/3 trang gidy thi trinh bay suy nghi cua em vé trach nhiém cua
thé hé tré ngay nay trong viéc tiép néi truyén thong cha 6ng dé xay dung dat nudc
ngay cang virng manh.
Bai 4. Em hay doc ki doan trich sau va tra loi cac cau hoi:
“Tung nghe
Viéc nhan nghia cbt & yén dan,
Quan diéu phat truéc lo trir bao
Nhu nude Pai Viét tir trudc,
Vén xung nén vin hién da lau,
NUi song bo coi da chia,
Phong tuc Bic Nam ciing khac,
Tt Triéu, Binh, Ly, Tran bao doi xay nén doc lap,
cung Han, Puong, Tong, Nguyén mdi bén xung dé mot phuong,
Tuy manh yéu tirng lGc khac nhau,
Song hao kiét doi nao ciing ¢6.”

(Trich Binh Ng6 dai céo - Nguyén Tréi)
Cau 1.Vin ban Binh Ngb dai cao duoc viét trong hoan canh nao?
Cau 2. Qua hai cau “Viéc nhan nghia ct & yén dan — Quan diéu phat trudc lo trir
bao”, c6 thé hiéu cdt 15i tu tudng nhan nghia caa Nguyén Trai la gi?
Cau 3. bé khang dinh chu quyén doc lap dan toc, tc gia dua ra nhitng yéu té
nao?



Cau 4. Phan tich su ndi tiép va phat trién vé y thic dan toc trong doan trich
“Nudc Dai Viét ta” so voi bai “Song nii nudc Nam”.
Bai 5: DPoc doan van sau va tra loi cau hoi:
“Pao 1 & ddi xtir hang ngay giira moi nguoi. Ké di hoc 1a didu dy. Nudc Viét ta,
tir khi 1ap qudc dén gio, nén chinh hoc da bi that truyén. Nguoi ta dua nhau 16i
hoc hinh thirc hong cau danh loi, khong con biét ¢é tam cuong ngii thuong. Chla
tam thuong,than ninh hot. Nudc mat, nha tan do nhitng diéu té hai ay.”

(Ngtr van 8 —tap 2)
Céu 1.Trinh bay hoan canh sang tac van ban trén?
Céau 2. Muc dich cua viéc hoc dugc tac gia néu trong doan trich trén la gi?
Cau 3.Kiéu hanh dong ndi nao dugc thyc hién trong cau: “Nudc Viét ta, tir khi
lap qudc dén gid, nén chinh hoc bi that truyén.”
Cau 4. Em hiéu thé nao 1a 16i hoc hinh thic? Cho biét tac hai cua 16i hoc ay.
Cau 5.Tro choi dién tir la mon tiéu khién hap dan. Nhiéu ban vi mai choi ma sao
nhang hoc tap va con vi pham nhiing sai l1am khac. Hay néu y kién cua em
khoang 2/3 trang gidy thi vé hién tuong do.

FThIAIAAIAIAAIAAAAAAAAAAAAAAhAAAhiiiiik

MON CONG NGHE
Cau 1.
a. Phan loai d6 dung dién trong gia dinh. Mdi loai lay 2 VD minh hoa.
b. Néu cau tao, wu, nhugc diém va nguyén ly 1am viéc caa dén soi dot.
C. So sanh uu, nhugc diém cua dén soi d6t va dén huynh quang.
Cau 2.
Néu cau tao, nguyén Iy 1am viéc caa ban 1a dién.
Cau 3. Bai tap tinh dién nang tiéu thu trong gia dinh, st dung cong thuc: A=P.t
* Lwu y: Pé Kiém tra gdm phan Trac nghiém va Ty luan, cac cau hoi tric
nghiém sé co trong ndi dung cau hoi on tap.
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MON VAT LY

Bai 1: Binh luat vé cong. Cong suat.

Bai 2: C4c hinh thic truyén nhiét (Nhiét niang, dan nhiét, dbi luu. Birc xa nhiét).
Bai 3: Cong thuc tinh nhiét luong.

Bai 4: Phuong trinh can bang nhiét.

Cau hoi on tap:

Cau 1:Phat biéu dinh luat vé Cong.

Cau 2: Cong suat cho ta biét diéu gi? Biéu thuc tinh cong suat, don vi?

Cau 3: bé dua vat co trong luong P = 500 N 1&n cao bang rong roc dong phai kéo
day di mot doan 8 m. Luc kéo, d0 cao dua vat I1én va cbng nang vat Ién la bao
nhiéu?

Cau 4: Nguoi ta dung mot mat phang nghiéng dé kéo mot vat cé khéi lugng 50
kg 1&n cao 2 m. Néu khong c6 ma sat thi luc kéo 1a 125 N. Thuyc té c6 ma sat va
lyc ké 1a 175 N. Hiéu suat caa mat phang nghiéng ding trén 1a bao nhiéu?

CAu 5: Mot nguoi di xe dap di déu tir chan dbc 1én dinh doc cao 5 m. D¢ dai 40
m, biét lyc ma sét can trd xe chuyén dong trén mat duong 12 20 N va ca ngudi
cuing xe c6 khéi luong 37,5 kg. Cong tong cong do nguoi dé sinh ra 1a bao nhiéu?

Cau 6: Con ngua kéo xe chuyén dong déu véi van toc 9 km/h. Luc kéo 1a 200 N.

Tinhcong suat cua ngua?

Cau 7: Cong suat cua mot ngudi di bo 1a bao nhiéu néu trong 1 gio 30 phut nguoi
d6 budce di 750 budc, mdi budc can 1 cong 45 J?

Cau 8: Mot ngudi kéo déu mot vat tir giéng sau 8 m trong 30 gidy. Nguoi dy phai
ding mét luc F = 180 N. Cong va cong suat ciia ngudi kéo 1a bao nhiéu

Cau 9: Hinh thac truyén nhiét chi yéu caa chat rin, long, khi, chan khéng la gi?
Cau 10: Nhiét nang ctia mot vat 1a gi? Néu cac cach 1am thay doi nhiét ning cua

mot vat.



Cau 11: Méi quan hé giira nhiét niang va nhiét d6. Khai niém nhiét luong.

Cau 12: Mot vat c6 nhiét nang 200J, sau khi nung noéng nhiét nang ctua no la
400J. Hoi nhiét lvgng ma vat nhan duoc la bao nhiéu?

Cau 13: Trong sy dan nhiét, nhiét duoc truyén tir vat ndo sang vat nao?

Cau 12: Mot ban g6 va mot ban nhdm cé cung nhiét do. Khi so tay vao mat ban
ta cam thay mat ban nhém lanh hon mit ban gd. Tai sao?

Cau 13: Bé dun s6i 15 lit nuwdc can cung cip mot nhiét luong 1a bao nhiéu? Biét
nhiét d6 ban dau cua nude 1a 20°C va nhiét dung riéng caa nudce 1a 4200 J/kg.K.
Caul4: Mot am nhém c6 khédi lugng 300 g chta 0,5 lit nude dang ¢ nhiét do
25°C. Biét nhiét dung riéng cia nhom, nude lan luot 13 ¢, = 880 J/kg.K, ¢, = 4200
JIkg.K. Nhiét lugng t6i thiéu dé dun sbi nudc trong 4m 1a:

Cau 15: Pau thép cia mot blia may co khéi luong 15 kg ndng 1én thém 20°C sau
2 phdt hoat dong. Biét rang chi c6 40% co ning cua bla may chuyén thanh nhiét
ning cua dau bla. Tinh cdng va cong suat cua bua. Nhiét dung riéng cua thép 1a
460 J/kg.K.

Cau 16: D6 5 lit nusc & 20°C vio 3 lit nudc & 45°C. Nhiét do khi can bang Ia
bao nhiéu?

Cau 17: Tha mot miéng thép 2 kg dang & nhiét d6 345°C vao mot binh dung 3 lit
nudc. Sau khi can bang nhiét do cudi cung 1a 30°C. Bé qua su toéa nhiét qua moi
truong. Biét nhiét dung riéng cua thép, nudc lan luot 1a 460 J/kg.K, 4200 J/kg.K.
Nhiét d6 ban dau cta nudc 1a bao nhiéu?

Cau 18: Tha mot qua cau nhdm khdi lugng 0,15 kg duoc dun nong téi 100°C vao
maot cde nude & 20°C. Sau mot thai gian, nhiét d6 cua qua cau va cua nude déu
bang 25°C. Coi qua cau va nudc chi truyén nhiét cho nhau. Biét nhiét dung riéng
ciia nhom va nuéc 1a 800 J/Kkg.K, 4200 J/kg.K. Khéi luong cua nudc 1a bao
nhiéu?

Cau 19: Ngudi ta muén pha nudc tim véi nhiét do 38°C. Phai pha thém bao

nhiéu lit nudce soi vao 15 lit nuwde lanh ¢ 24°C?



Cau 20: Nguoi ta tha mot miéng dong khédi luong 0,5 kg vao 500 g nuée. Miéng
ddng nguoi di tir 80°C xubng 20°C. Hoi nuwdc nong 1én thém bao nhiéu d6? Biét

nhiét dung riéng cua déng 1a 380 J/kg.K, cua nudc 1a 4200 J/kg.K.
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MON SINH HQC

Cau 1:Phan biét phan xa c6 diéu kién va phan xa khong diéu kién. Phan xa
c6 diéu kién & nguoi dugc hinh thanh va tc ché nhu thé nao?
Céau 2: Néu cac cach hoc sinh 16p 8 noi riéng va con nguoi noi chung nén
lam dé bao vé hé than kinh.
Cau 3:Trinh bay cac khai niém tuyén noi tiét, tuyén ngoai tiét, hooc-mén
va dic diém, tinh chat caa chang.
Cau 4:N&u vi tri, cau tao va vai tro ciia cac tuyén noi tiét. Picu gi s& xay ra
néu hoat dong cua cac tuyén noi tiét bi réi loan?
Cau 5:Trinh bay ciu tao ciia co quan sinh duc nam, co quan sinh duc ni va
cac hiéu biét caa em vé qua trinh thu tinh, thy thai, su phat trién cua thai.
Cau 6: Néu mot s6 bién phap tranh thai an toan va co sé khoa hoc cua cac
bién phap do.

* Luew y: Dé thi cuoi Ki 11 gom 30 cau hdi trac nghiém — Thei gian 1am bai: 45 phat

e e e e e oo ook
MON TOAN

A.Ly thuyét

. Pai s6

- Phuong trinh bac nhat mot an va phuong trinh dua duoc vé dang ax+b=0

- Phuong trinh tich

- Phuong trinh chira 4n & mau

- Giai bai toan bang cach lap phuong trinh

- Bat phuong trinh bac nhat mot an

- Phuong trinh chira dau gi4 tri tuyét doi



I1. Hinh hoc

- binh |i Ta-1ét, dinh li dao va hé qua dinh li Ta-lét

- Tinh chit duong phan giac caa tam giac

- Cac truong hop dong dang cua tam giac, tam giac vudng

- C4c cong thc tinh thé tich, dién tich xung quanh, dién tich toan phan hinh ling
tru dtng, chop déu.

B.Mbt s6 bai tap tric nghiém

Cau 1: Phuong trinh 2x+3 = x+5 ¢6 nghiém la:

A x=-2 B.x=2 C.x=3 D. x=8
Cau 2:Phuong trinh (x>+1)(x-2) = 0 ¢d tap hop nghiém S la:
A{-1} B.{-1;2} C.{-1;1;2} D.{2}
Cau 3: biéu kién xac dinh ctua phuong trinh: 3 _XF2)y
x—1 Xx+3
A. x=-3 B. x#1; C. x#1 hoac D. x=1lva x=-3
X#—-3

Cau 4: Mot 6 t6 di tir A dén B véi van téc 45 km/h hét x (gio) thi quang duong
AB dai la:

A. 45x (km) B 45 (km) c X (km) D. 45 + x (km)
X " 45
Cau 5:Cho at+3 > b+3 khi d6:
A.a<b B. 3a+1>3b+ 1 C.-3a-4>-3b-4 D. 5a +3 < 5b+3
Cau 6: Nghiém cua bat phuong trinh -2x + 1 > 0 1a:
A.x<0 B x>1 c.x<t D. x<-1
2 2 2

Cau 7: Phuong trinh |x+5 = 3 ¢6 nghiém la:
A x=-2 B.x=-8 C.x=-2hoacx=- D.x=2vax=-8
8

Cau 8: Cho AABC dong dang voi ADEF theo ti s6 dong dang k = % Chu vi

ADEF bang 30 cm thi chu vi AABC bang:

A.18 cm B.20 cm C.22cm D.25cm
Cau 9: Cho AABC— ADE Fcé A =40° B=80°hi goc F bang:
A. 40° B. 80° C. 60° D. 100°



Cau 10: Mét hinh hop chit nhat cé chiéu rong 8 cm, chiéu dai I3 cm, thé tich hinh
hop chit nhat d6 1a 520 cm? thi chiéu cao la:
A. 50 dm B.0,5cm C.5cm D.50 cm

C. Mt s6 bai tap tw luan

I. Phan dai s6

1. Phuong trinh

Bai 1. Giai phuong trinh:

a2x +6 =0 b.4x + 20 = 0 C.2(x+1) = 5x — 7

d3x -1 =x+3 e.l5 — 7x =9 — 3x f.2x + 1 =15 — 5x
Bai 2. Giai phuong trinh:
a.(x—6)(x-4)=0 b.(2x+5)(4x>-9)=0
C.(x=1)(5x+3)=Bx-8)(x-1)
dx* - 2x+1=4 f(x+1)(x-1)=0 0. +1=x(x+1)
Bai 3. Giai phuong trinh:
2Xx—-5 3-X b X+3 x-2
+ == = +

a. 1 A2 29
6 4 X+1 X

x-2 3 x*-11 2 1 3x-11
C. + == d. —~ =

X+2 xX-2 x° -4 Xx+1 x-2 (x+1)(x-2)
e x+2 1 2 f x+2 1 2
" x-2 x x’-2x x-2 x x(x-2)
g. 3x—1_2x+5:1 h. 2X N X 14 4

x-1 x-3 2x-1 2x+1 (2x-1)(2x +1)

Bai 4. Giai cac phuong trinh sau:
a. |4x2—25|=0 b.|x-2|=3 C.x-3=2x-1 d. [x + 5| =
|3x — 2|

2. Bat phwong trinh
Bai 1. Cho a > b ching minh ring 5 —2a <5 — 2b
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Bai 2. Giai bat phuong trinh va biéu dién tap hop nghiém trén truc s6

a.—4+2x<0. b.2x-3>0 c.2x +5<7
d.-2x-1<5 e.3X +4>2x +3 f.4x —8>3(3x —
1)-2x+1
g. 2X + 3(x — 2) <5x — (2x — 4) h. x(x-2)—(x+1)(x +
2) <12,
Bai 3. Giai bat phuong trinh va biéu dién tap hop nghiém trén truc sb

2x+2 3 3x-2 2—-x 3-2x 2x+2 3 3x-2
a. +—< b. =— =< C. =<

5 10 4 3 5 5 10 4
d. 1+3(x+1)>x—2 o 2X-7 _3x-7 f 2x=1 3x+1

10 5 6 2 3 2

3. Giai bai toan biang cach lap phwong trinh

Bai 1. Mot ngudi di xe dap tir A dén B véi van toc 15 km /h. Ldc vé nguoi do di
véi van téc 12km/h nén thoi gian vé 1au hon thoi gian di 1a 45 phat. Tinh quéng
duong AB ?

Bai 2. Llc 7 gio, mot ca nd xudi dong tir A dén B cach nhau 36km roi ngay lap
tirc quay vé bén A luc 11 gio 30 phit. Tinh van tc caa ca nd khi xudi dong. Biét
rang van toc nudc chay 1a 6km/h.

Bai 3. Mot nguoi di xe dap tir dia diém A dén dia diém B véi van téc 15km/h va
sau d6 quay trg vé tir B dén A véi van téc 12km/h. Ca di 1an vé mat 4 gio 30
phat. Tinh chiéu dai quang duong.

Bai 4. Mot nguoi di xe may tir A dén B véi van téc 30 km/h. Pén B nguoi d6 lam
viéc trong mot gio roi quay vé A véi van téc 24 km/h. Biét thoi gian tong cong
hét 5 gio 30 phut. Tinh quing dudong AB.

Bai 5. Mot bac tho theo ké hoach mdi ngay 1am 10 san pham. Do cai tién k¥ thuat
mdi ngdy bac di 1am dugc 14 san pham. Vi thé bac da hoan thanh ké hoach truéc
2 ngay va con vuot mac du dinh 12 san pham. Tinh sé san pham bac tho phai 1am
theo ké hoach?

I1. Hinh hoc

Bai 1. Cho tam giac ABC vudng tai A, duong cao AH
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a) Tinh d6 dai canh BC, AH. Biét AB = 6¢cm, AC = 8cm.

b) Chting minh: AABC ddng dang véi AHBA.

c) Chung minh: AB2 = BC.BH.

d) Chitng minh: AH? = HB.HC.

Bai 2. Cho hinh chir nhat c6 AB = 8cm; BC = 6cm.Veé duong cao AH cua tam
gi4c ADB

a) Ching minh AAHB d6ng dang véi ABCD

b) Chirng minh AD? = DH.DB

¢) Tinh d6 dai doan thang DH, AH

Bai 3. Cho tam giac ABC c6 ba goc nhon, ba duong cao AD, BE, CF cat nhau tai
H. Ching minh rang:

a) AAHF d6ng dang voi AABD

b) AACF ddng dang véi AABE

C) AAEF ddng dang véi AABC

d) AADB dong dang véi ACDH

e)BH.BE +CH.CF =BC?

Bai 4. Cho tam giac ABC vuong tai A , ké AH L BC tai H. Tt H ké HM vuong
goc véi AB tai M, ké HN vudng gdc véi AC tai N. Biét AB = 6cm; BC =10cm.

a) Tinh d6 dai cac doan thing AC, AH, HB, HC.

b) Tinh chu vi va dién tich ta giac AMHN.

¢) Chting minh rang AAMN dong dang véi ANCH .

d) Goi I 1a trung diém cta BC. Chang minh rang Al L MN.

Bai 5. Cho tam gidc ABC can tai A. Vé cac duong cao BH va CK, (H thuoc AC,
K thuoc AB).

a) Ching minh ABKC d6ng dang véi ACHB. Tim ti s6 dong dang.

b) Ching minh KH // BC

c) Cho biét BC = a, AB = AC =b. Tinh d6 dai doan thang HK theo a va b.

Bai 6. Cho hinh vuéng ABCD c6 d6 dai canh l1a 12cm. Trén canh AB léy diém E
sao cho BE=3cm. Puong thang DE cat CB kéo dai tai K.

a) Tinh do dai canh DE?
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b) Chtrng minh AEAD~ A EBK. Tinh ti s6 dong dang k va tinh DK.

c) Tinh S, .

*Hinh Khéi

Bai 1. Cho hinh hop chir nhat c6 cac kich thudc l1a 3cm; 4cm; 5cm. Tinh dién tich
xung quanh va thé tich cua hinh hop chir nhat do.

Bai 2. Cho hinh lang tru ding day la tam giac vuéng codo dai hai canh goc vudng
la 3cm va 4cm. Thé tich hinh lang try 12 60cm2. Tim chiéu cao cua hinh ling tru.
Bai 3. Cho hinh chdp tt giac déu c6 do dai canh cua tir giac day bang 4 cm va do
dai duong cao bang 6¢cm. Tinh thé tich hinh chop déu do.

Bai 4. Mét hinh hop chit nhat c6 chiéu dai 1a 10cm, chiéu rong l1a 8cm, chiéu cao
la 5cm. Tinh thé tich hinh hop chir nhat do.

Bai 5. Mot hinh hop chit nhat ¢6 ba kich thuéc 3cm, 4cm va 6¢cm. Tinh dién tich

toan phan cua hinh hop chir nhat.

kkhkkkhkkhkkhkkhkhhkhkhhkhhkkikkhkkihkhikhkikkiikkx

MON HOA HQC
|. LY THUYET o
1. Céc Cﬁng thirc chuyén do6i n,m,v, C%, CM,...
2. Tinh chat hoa hoc cua oxi, phan tng hoa hop, phan tng phan huy,
diéu ché oxi, phan loai va goi tén oxit. o ,
3. Tinh chat hoa hoc cua hidro, phan tmg the, dicu che hidro.
4. DPinh nghia, tén goi axit, bazo, mudi,...
1. BAlI TAP
Hs lam céc bai tap sau:

Bai4/84; 2,4/9; 6/94; 1/100; 3,6/101; 1,5/109 (sgk).

khkhkkkhkkkkhkkkhkkhkkkkhkkkhkkhkkhkkhkkkhkhkkhkkhkkhkkikkhkkhkhkkikikik

MON TIENG ANH

A. KNOWLEDGE:
I. Phonetics
Pronunciation: - Stress in words ending in -ic and -al; -ese and -ee; -logy and —graphy; -
ity and -itive; -ful and -less;
-Stress in words starting with un- and im-
Il. Vocabulary
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- Unit 7 — Pollution: The lexical items related to the topic “Pollution”.
- Unit 8 — English speaking countries: The lexical items related to the topic “English
speaking countries”.
- Unit 9 — Natural disasters: The lexical items related to the topic “Natural disasters”.
- Unit 10 — Communication: The lexical items related to the topic “Communication”.
- Unit 11: Science and technology: The lexical items related to the topic “science and
technology”.
1. Grammar
1. Conditional sentences type 1 + type 2
2. Tenses of the verbs ( Present tenses; Present simple for future; Past perfect; Future
continuous; Future tense )
3. Verbs + To-infinitive / V-ing
4. Passive voice
5. Reported speech (statements)
IV. Skills
e Reading:
Reading for general and specific information about topics: Pollution, English speaking
country; Natural disaster; Communication; Science and technology; Life on other
planets.
e Listening:
Listening for specific information about topics: Pollution, English speaking country;
Natural disaster; Communication; Science and technology; Life on other planets.

B. EXERCISE
*WRITING
I. Finish these following sentences so that its meaning stays the same.

1. Nhi said: ‘People will soon communicate using telepathy”.
->Nhi

2. Nick said: “ I have decided to become an astronomer.”
->Nick

3. David said: “ Why can’t humans live on Venus?”
->David

4.Crew asked : “ Captain Kirk, which star are we travelling to?”
->The crew asked Captain Kirk. ... e
5. “Will aliens become good friends with humans?” Nick asked his teacher.

14



6.Peter said: “I will try to learn hard to pass the entrance exam.”

I1. Make up meaningful sentences using the words and phrases given. Sometimes you
have to change the forms of the words given.
1. Soil/ not/ be/ so/ polluted/ if/ farmers/ not use/ much/ chemical/ fertilizer.

* PRONUCIATION
I. Circle the choice which underlined part is pronounced differently from the rest.

1. A. thermal B. earthquake C. there D. death
2. A. evacuate B. accent C. effect D. erupt
3. A. goes B. watches C. misses D. brushes
4. A. health B. team C.tea D. beach
5. A. wanted B. naked C. finished D. needed

6. A. who B. when C. where D. what

7. A. happened B. helped C. burned D. bored
8. A. beach B. catch C. church

D. Christmas
I1. Circle the word with a different stress pattern from the others.

1. A. industry B. tornado C. natural D. injury
2. A. geography B. electronic C. scientific D.
preparation
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3. A. primary B. animal C. tropical D. volcano
4. A. climatology B. bibliography C. communication D.
radiography

5. A. artistic B. historic C. dramatic D. scientific
6. A. medical B. national C. chemical D. historical
7. A. athletic B. dramatic C. scientific D. heroic

8. A.activity B.positive C. repetitive D.
competitive

*GRAMMAR & VOCABULARY
I. Choose the best answer A,B, C or D to complete each sentence.
1. People from other planets may use to communicate, which is not
possible for human beings.
A. landlines B. letters C. chat rooms D. telepathy
2. Teenagers often use abbreviations when :
A. texting B. video conferencing C. sending letters D. talking
3. People who cannot hear or speak often communicate using
A. pictures B. sounds C. codes D. signs
4. is popularly used to enable people from different countries to have
meetings. People can watch, and listen to each other through a screen.
A. Chatting B. Video conferencing C. Emailing D. Texting
5. The in technology allow astronomers to know more about outer space.
A. developments B. science C. exploration D. discovery

6. Kumar asked me a question but I don’t know what
A. is the answer B. the answer was  C. was the answer D. the answer is

7. On Christmas Eve, most big cities, especially London are with coloured
lights across the streets and enormous Christmas trees.
A. put B. made C. hang D. decorated
8. Mohan asked his mother if the Internet.
A. he can surf B. he could surf C. hesurfs D. could he surf
9. Alexander Graham Bell was a great , who invented the telephone.

A. developer B. conservationist C. scientist D. explorer
10. is important because it may help to solve the problems of
overpopulation and exhaustion of resources on Earth.

A. Space exploration B. Space travelling C. Space checking  D. Space
walking

11. To generate cheap and clean energy, instead of burning fossil fuels, scientists have
developed :
A. oil B. solar panels C. electricity D. coal burning

16



12. systems use several different ways of giving information with sounds,
pictures, and texts on a screen.

A. Emailing B. Telephoning C. Multimedia D. Chatting
13. Astronauts use to move around when they are on the Moon’s surface.
A. spaceships B. flying saucers C.spacecars  D. moon buggies
14. If the factory dumping poison into the lake, all the fish and other
aquatic animals will die.
A. continues B. to continue C. continued D. will continue
15. Water pollution is the in the lake has made the fish die.
A. contaminating B. contaminate C. contaminated D. contamination
16. « the pink dress? It suits you,” said Molly.
A. Why don’t you buy B. had you bought
C. Why did I not buy D. Did | buy
11. Mrs. Krishna asked her children to the room for their grandmother’s visit.
A. has prepared B. prepare C. be preparing D. prepared
12. If we water carefully, more people will have fresh water.
A.willuse B.woulduse C. using D. use
13. I asked my mother go to the bookshop with my friends.
A. may | B. if could | C. I may not D. if I might
14. Non-verbal Is popular in our daily life.
A. communicate B. communication C. communicative D. communicating
15. If we more trees in the forests, People will have more fresh air to breathe.
A. plant B. will plant C. would plan D. may plan
16. To generate cheap and clean energy, instead of burning fossil fuels, scientists have
developed
A. oil B. solar panels C. electricity D. biogas
17. Communication occurs when two people don’t understand what each
other is talking about.
A. breakout B. breakdown C. breakin D. breakoff
18. The in technology improve our life.
A. discovery B. exploration C. science D. developments
19. He was lazy. , he was dismissed. Now he's out of work.
A. as B. so C. However D. Therefore
20. Our lives are in because of pollutions

A.danger  B. saucer C. surface D. system
I1.Mark the letter A, B, C or D on your answer sheet to indicate the word CLOSEST
in meaning to the underlined word in each of the following questions.
1.1 received housing benefit when | was unemployed.
A. out of order B. out of fashion C. out of work D. out of practice
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2. Educators are complaining that students rely on social media so much that they lose
the ability to think critically.

A. insist on B. appear on C. depend on D. decide on
3. Many people feel nervous when they first make a speech in public
A. impressed B. afraid C. confident D. upset
4. How many country took part in the last SEA Games?
A. succeeded B. hosted C. participated D.performed
5. The law made wearing seat belts in cars compulsory.
A. necessary B. optional C. obligatory D. redundant

I11.Mark the letter A, B, C or D on your answer sheet to indicate the word(s)
OPPOSITE in meaning to the underlined word(s) in each of the following questions.
1. Henry has found a temporary job in a factory.
A. eternal B. genuine C. permanent D.
satisfactory
2. Around one corner, a hundred goats suddenly appeared, in no apparent hurry to let us
by.
A. paraded B. left C. vanished D. showed up
3. In some rural areas, English is an optional subject for school children.
A. compulsory B. interesting C. voluntary D. academic
4.The new laws to conserve wildlife in the area will come in to force next month.
A .eliminate B.protect C.pollute D. destroy
5. fruit and vegetables grew in abundance in the countryside , therefore, farmers often
sell them at low price.
A. excess B. sufficiency C. small quantity  D. large quantity
IV.Mark the letter A, B, C or D on your answer sheet to indicate the most suitable
response to complete each of the following exchanges .

1. “I’m taking my driving test tomorrow”’.

A. Luck B. Best wishes C. Good luck D. Good chance.
2. “Hello, Id like to speak with Mr. Smith .”

A. Sure B. Hang on, please C. Who are you? D. Of course you can
3. “ Your parents must be proud of your result at school.”

A.l am glad you like it B. Sorry to hear that

C. Thanks. It certainly encouraging D. Of course

4. Shall I help you with a suitcase?”

A. Not a chance B. That‘s very kind of you. C.I can’t agree more D. What a
pity!

5. Janet: “ What a lovely house you have !”

Jane: ...l

A. No problem B. Thank you . Hope you will drop in.
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C. Of course not , it’s not costly D.I think so.

6. "Why not go and have dinner in a restaurant?" - " It's too
expensive."
A. Why not? B. I'm sure. C. I agree. D. I'm afraid not.
7. "It's been a wonderful evening. Thank you very much." - ¢ "
A. It's OK. B. No, thanks. C. My pleasure. D. It doesn't matter.
8. "If I'm a bit late, wait for me." - "
A. Am | early? B. I think so. C. Not yet. D. All right.
9. "I'm sorry, we don't have your size." - "
A. I'll take it. B. I hope so. C. What a pity! D. I don't like it.
"10. "Thank you very much for a lovely party." - "
A. Cheer. B. I hope so. C. What a pity! D. You're welcome.

V. Choose the underlined words or phrases that are not correct in standard
written English.
1. As soon as he will come back from his office, tell him to see me.
A B C D

2. The foreman warned the children not touch that button.

A B C D
3. The town we visited was a four-days journey from our hotel, so we took the train
instead

A B C
of the bus
D
4. The explanation that our teacher gave us was difficult than the one you gave us.
A B C D
5. Hundreds of houses destroyed after a tornado hit the small town of Texas.
A B C D
6. She is looking forward to see her grandparents again soon.
A B C D
7. He said he will go to the zoo the next day .
A B C D
8. If I am you, | wouldn’t make so many mistakes .
A B C D
V1. Give the correct tense or form of the following verbs.
I.I(watch) ............oooiiiil. a science fiction film on TV at 9 .00 tonight.

2. Our teacher says that new technology (make).... Many workers jobless in the future.
3.Look at those clouds — I think it (rain)........................
4. If you use robots to do the housework, you (become)................. lazy and you (not

get).oiiiiiiii, enough exercise.
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5. People say that technology (change) ............ up entire rooms are small enough to
put on destops and into wristwatches.

6. we’llneed (call)..................... him more often

7. This time next week , [ (lie)....................o.o. .. on the beach on Phu quoc Island
8. Thomas Edison said that none of his inventions ( come)................... by accident.
They (be).............. all the result of hard work

9. By the time I( arrive)............ the airport, my husband( wait)....... for me for an
hour.

10. If the trees(be not).........cccvvviiiinnn.... watered daily, they will die.

11. Air (pollute)..........coevviiiiinn.n. 1s not good for our health.

12. Many houeses (destroy)..........ccoevieennean... in the hurricane last night in Nghe
An.

13. If the students reviewed all lessons, they(do)....................... the test well.

14. After the thief(leave)................... the house, the police (come)..............
I15.He (notgo).............. out last night, he (stay )................. at home.

16. ........Lan (learn)......... English for 2 years ? - No, he (learn ).............. for 3
years.

17........ you ( wear )........... uniform yesterday ? - No. | ( not wear

). eiieenn. . yesterday.

18....... your mother (read )........ book every night ? - No, she ( watch ) ......... TV.
19.We (Save) .oovvvniiiiiiee electricity if we didn’t pay much money.
20. If we use water carefully, more people (have) .................... fresh water.

21. That room (Paint)..........cceevereenniennnnennnnnns at this time next week.

22. He wouldn’t be ill if he (smoke)...............oooiiiiiiii L, a lot.

23. By the time the police (come).................... , the thief (leave)...............

24. After I(finish)....................... the lesson, Lan went out.

25. This house ( build)...................... in 2015.

VII. Rewrite the following sentences so that the second sentence means the same as
the first one.

1. Scientists have invented new devices to help people live a longer life.

DNEW ABVICES. ..ot

1. Tdon’thave enough time, so I can’t go on holiday this summer.

3. The man had a broken leg. He tried to save his wife.
DN SPIC Of e
41 can’t tell you because I don’t know the answer.-2>If
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6. The rescue workers evacuated the villagers in the raged flood to the safe place last
night.

—>The villagers in the raged flood..............coiiiiiiiii e

7. The students will provide aids for the homeless people tomorrow.

9. They don’t have a map, so they get lost .2>1If. ...,

10. The storm destroyed many houses in this village last week.

DMaANY NOUSES. ...ttt e,

11.Did they give food to homeless people last year ?

D VS, o ————

12.Although the weather was bad, the fooball match was not canceled.

DD DI, .o
VI1I1. Change the following sentences into passive form.

1. My father bought me this bike 3 years ago.

2. They are going to build a new bridge near my school. >..............................
3. My sister could speak English whenshewas 10. = ...,

4. Do people use thisroad very often? = ...,
5. Minh didn’t watch that film last night, did he? 2.

6. My brother has just given me a beautiful gift.

8. They had repaired their house before the typhooncame > ...........................
9. What kind of injures do earthquakes cause?

10. We will send rescue workers to the flooded villages.=>........................
11. They have decorated their house recently.

12. People must not leave bicycles inthe hall.=> ...,

13. The organizer will exhibit the paintings till the end of the month. ->...............

14. They are going to open a new shopping mall in the
neighborhood.=>...........................

15. They have to show the boy the -easiest way to do it

16. No one can answer this question, can they?
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1X. Give the correct forms of the words in brackets to complete the sentences.

1. This beach is very for swimmers because tornadoes often start there.
(danger)

2. Her family live near an active volcano, so she's always worried about the

of her family. (safe)

3. Don't leave the light on. It wastes . (electric)

4. Mount. Phu Si in Japan some years ago. (eruption)

5. We need some to cope with natural disasters before they happen.

(prepare)

6. Protecting our resources especially rainforests is very important to

prevent some natural disasters such as landslides, floods, so on. (nature)

7. A flood causes the of food and water because it destroys crops and

pollutes the fresh water. (short)

8. In tropical region, it is very In summer. (storm)

9. Deforestation can cause soil . (erode)

10. Crops are severely by a drought. (destruction)

11. A lot of about people and assets were left after a hurricane. (damage)

12. Food and drink are usually after a natural disaster occurs. (scarcity)

* READING

I.Read the text below and choose the option A, B, C or D in each blank to complete it.
Bicycles

The bicycle is one of the simplest yet most useful inventions in the world. What is most

surprising is that it was not s(1) ............. earlier, although the great inventor Leonardo

da Vinci had drawn picture for bicycle and also for flying machines and some other
things. Those things were not produced until long after he died.

A person riding a bicycle use (2) .............. energy to make the bicycle move, and
there is no pollution at all when you are riding. Even so in developed countries, most
people don’t travel to work by bicycle. It is not b?ecause the bicycles are expensive or
people feel (3) ............. if they ride to work. It’s because the number of cars on the
roads becomes larger. It certainly becomes (4) ............ to ride a bicycle. As a result,
more people put their bicycles away and go to work in their cars, and in this way, the
situation is made more serious. (5) .............. the best way to make riding safer and
more popular is to create paths only for bicycle and to make it so difficult and expensive
for drivers to take their cars into the city that they will go back to use their bicycles.

1. A had B. invented C. ridden D. used

2. A. very little B. much C. quite a lot of D. many
3. A. lucky B. tired C. glad D. sorry
4. A. more dangerous B. safe C. much D. popular
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5. A. Perhaps B. Hardly C. Nearly D. Maybe

I1. Read the passage and choose the correct answer A, B, C or D for each of the gaps.

Computers are helpful in many ways. First, they are fast. They can work with

information much (1) quickly than a person. Second, computers can work

with a lot of information at the same time. Third, they can (2) information

for a long time. They do not forget things that the common people do. (3) :

computers are almost always correct. They are not perfect, but they usually do not (4)
mistakes.

Recently, it is important (5) about computers. There are a number of
things to learn. Some companies have classes at work. In addition, most universities
offer day and night courses in Computer Science. Another way to learn is from a book,
or from a friend. After a few hours of practice, you can work with computers. You may
not be an expert, but you can have fun.

1. A. Much B. rather C more D. less

2. A. Hold B carry C. stay D. keep

3. A. However B. Moreover C. Therefore  D. Nevertheless
4. A. Do B. make C have D. take

5. A. Know B knowing C to know D. knew

I11.Read the following text and answer the questions by choosing the option A, B, C
or D.

THE SUN
At the centre of the Solar System is a massive ball of gas, which is called the Sun.
Without the Sun, life on Earth wouldn’t exist. There would be no water, no light, no
plants, and no people. The Sun is a star, just like millions of other stars in the sky.
However, it appears much bigger than other stars because it is closer to Earth, only 8
light minutes away.
Earth and the other eight planets in the Solar System orbit the Sun. Each time a planet
has moved around the Sun and has returned to where it begins, a year has passed. It
takes just over 365 days for the Earth to move around the Sun, so a year on Earth is 365
days long.
28. What does the phrase “only 8 light minutes away” in line 4 mean?
A. It takes 8 minutes for a spacecraft to travel from the Earth to the Sun.
B. It takes 8 minutes for the Earth to move around the Sun.
C. It takes 8 minutes for the Earth to move close to the Sun.
D. It takes 8 minutes for light from the Sun to hit the Earth.
29. Why does a year on Earth last for 365 days?
A. Because the Sun often returns to where it begins its orbit after 365 days.

23



B. Because it takes 365 days for the Earth and other eight planets to move around the
Sun.

C. Because a year on the Sun lasts for 365 days.

D. Because it takes about 365 days for the Earth to move around the Sun.

30. What does the word “it” in line 6 refer to?

A. the Earth B. the Solar system C. a planet D. the Sun
31. What is NOT true about the Sun?

A. The Sun is closer to the Earth than other stars.

B. The Sun is a massive ball of gas.

C. The Sun moves around the other nine planets in the Solar System.

D. The Sun lies at the centre of the Solar System.

32. What would happen if the Sun disappeared?

A. A year on Earth would be much longer than 365 days.

B. There would be no life on Earth.

C. The Earth would move around another planet.

D. People would have to live without water, light and plants.

IV. Read the following passage and choose the best answer for each question.

Long ago a lot of people thought the moon was a god. Other people thought it was
just a light in the sky. And others thought it was a big ball of cheese!

Then telescopes were made. And men saw that the moon was really another world.
They wondered what it was like. They dreamed of going there.

On July 20,1969, that dream came true. Two American men landed on the moon.
Their names were Neil Armstrong and Edwin Aldrin.

The first thing the men found was that the moon is covered with dust. The dust is
so thick that the men left footprints where they walked. Those were the first marks a
living had ever made on the moon. And they could stay there for years and years. There
IS no wind or rain to wipe them off.

The two men walked on the moon for hours. They picked up rocks to bring back to
earth for study. They dug up dirt to bring back. They set up machines to find out things
people wanted to know. Then they climbed back into their moon landing craft.

Next day the landing craft roared as the two men took off from the moon. They
joined Michael Collins in the spaceship that waited for them above the moon. Then they
were off on their long trip back to earth.

Behind them they left the plains and tall mountains of the moon. They left the
machines they had set up. And they left footprints that may last forever.

1. This story tells
A. about the first men to walk on the moon.
B. how men found footprints on the moon.
C. what the men brought back from their trip to the moon.
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D. who had left footprints on the moon before the two men landed there.

2. The men brought rocks and dirt from the moon because
A. they wanted something to show they were there.
B. people wanted to use them to study about the moon.
C. they wanted to keep them as souvenirs.
D. they might sell them to scientists.

3. The American machines will most likely stay on the moon until
A. someone takes them away
B. a storm covers them with dust.
C. rain and wind destroy them.
D. they become rusty and break to pieces.

4. The next people who go to the moon most likely could
A. find that the machines have disappeared.
B. leave the first set of footprints on the moon.
C. find the places where Armstrong and Aldrin walked.

D. find that dust has wiped off the two men's footprints.
V:Read the passage and mark the letter A, B on your answer sheet to indicate the
correct answer to each of the questions.

The very first, simple, text message was sent on December 3rd, 1992. It was
sent by software engineer Neil Papworth to his boss at the British mobile phone
operator Vodafone. It read simply, “Merry Christmas”. Little did they know that their
simple mode of communication would take the world by storm. SMS (Short Message
Service) is today a multi-billion-dollar industry covering every corner of the globe. An
estimated nine trillion text messages are sent globally each year. It is the preferred
method of communication between family members. One study showed that the
average American teenager sends up to 60 texts a day. However, SMS has also been
blamed for a decline in language ability and an increase in traffic accidents.

1. The first text message was sent to engineer Neil Papworth in 1992.A. True/ B. False
2 The first text message simply said “Merry Christmas”. A. True/ B. False
3. Today SMS is a widely used form of communication. A. True/ B. False
4. Around nine billion text messages are sent worldwide every year. A. True/ B. False
5. An average US teen supposedly sends more than 60 text messages a day. A. True/ B.
False
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